Chapter 2 

Case Study:  Consolidation in the Telecommunications Industry
1.     How have technological and regulatory change affected competition in the 


    telecommunications industry?

 
    Answer: Tech and regulatory change has stimulated an increase in telecom 

                industry concentration.  While reducing the number of traditional telecom 

       competitors, it has not necessarily reduced competition because the two largest 

       competitors at that time (i.e., AT&T and Verizon) were about even in size and 

       market power. History shows that the intensity of competition in 

       duopolistically competitive markets can be substantial.  Moreover, they must 

       compete against numerous alternative technologies at least in the consumer 

        market.

2.      How have technological and regulatory change affected the rate of innovation 


     and customer choice in the telecom industry?


     Answer:  Consumers now have substantially more alternative telecom 

                 technologies to choose from (e.g., Internet telephony, satellite telephones, cell 

                 phones, cable phones., etc.). The relative absence of as many options in the 

                 business services’ markets may result in less innovation and choice.

3.     The process of creative destruction has stimulated substantial consolidation in   

          the U.S. telecom industry.  Is bigger always better?  Why? / Why not? (Hint: 

          consider the impact on a firm’s operating efficiency, speed of decision making, 

          creativity, ability to affect product and service pricing, etc.)

Answer: Bigger may be better because of economies of scale and scope,lower 

                borrowing costs, and greater brand recognition and loyalty.  However, size may

                also result in slower decision making, less creativity due to burgeoning 

                bureaucracy, and increased pricing power and lower output and employment 

                levels than would have occurred in more competitive markets.  The latter may 

                be good for selected businesses but not for society.

4.     Comment on the following statement: To determine the extent to which 

           industry consolidation is likely to lead to higher, lower, or unchanged product 

           selling prices, it is necessary to consider current competitors, potential 

              competitors, the availability of substitutes, and customer pricing sensitivity.


    Answer: The ability to raise prices will depend on the number and size of 

                current and potential competitors, the availability of substitutes, and the relative 

    inelasticity of customer demand.  Increased competition offering substitute 

    products will limit significantly the ability of other firms to raise prices. In 

    addition, efforts to raise prices will reduce product or service demand if 

    demand is highly price elastic. Finally, in markets where barriers to entry are 

    low, attempts to raise prices will induce additional firms to enter the market 

    thereby increasing supply and, other things equal, lowering the price.

5.     What factors motivated Verizon and SBC to acquire MCI and AT&T, 

           respectively?  Discuss these in terms of the motives for mergers and 

           acquisitions described in Chapter 1 of the textbook.  

                Answer: SBC and Verizon were prompted to acquire AT&T and MCI to gain 

                access to additional business customers, realize cost savings by eliminating 

                redundant positions (i.e., synergy), gain market share (i.e., economies of scale, 

               scope, and pricing power), gaining access to new geographic areas (i.e., related 

               diversification), purchase assets such as networks at below replacement cost 

                (i.e., buying undervalued assets), and possibly overconfidence that the target 

                firms could be successfully integrated (i.e., hubris).

